Roman Numerals Now try this word problem:

Write the following numbers in Roman
Numerals:

33) A Roman newspaper reported
that at The Battle of Actium,
General Marc Anthony had an
army of MCCX while Octavian had
an army of MXL what was the
difference in the size of the
armies?

1) 1

2) 5
1) There were CCL senators in

Solve these calculations: the Senate. If LXIV senators
left, how many senators

1) vii=1i= would remain? Give your

2) X+V-= answer in Roman Numerals.

3) 10
4)

5)

6)

7)

8)

9)

10)

3) XX+1V=
) If a Roman potter could

4) LX=-V= make LVI pots in a week.
5) C+ XXVI= How many pots could she
make in 3 weeks?

o Mastery Be able to
work logically to apply
understanding of Roman
Numerals.

11)
12)
13)

6) XXVI + VIl =

Write the following Roman Numerals in
digits:

7) CV-LVI= Before a battle, the Roman
Army contained CCL
soldiers. If XC soldiers were

Which number (less than 2000)

8) CCL+C= uses the most Roman Numerals?

14) XlI
15) VI
16)

9) LXXVIII + LXIlI= lost, how many soldiers

10) CCCXX - CLXXV= would remain? e.g. 185 = CLXXXV

7

6 Roman Numerals used.

17)
18)

11)  XXIX + XLII =
19)

4) DXV + CCLXXI| =
12) D+XVl=

20)

5) MMCCCX + DCLXXXIlI=

21)
22)

13) CD-L-=

23) LXXVII

14)  CMXX — CDXLIIl = 6) MDX + MC=

24) ccL

15) DL-DXLVIIl =

25) CCLIX

7) MMMCXIl = MCLI=




